CONTRA	CTOR				ADDRESS				
					ΤΟΤΑ	L MATERIAL COST		\$	
						OTAL LABOR COST		\$	247,142
						SUBTOTAL		\$	247,142
						SALES TAX		\$	-
						LABOR BURDEN	10.00%	\$	24,714
					OV	ERHEAD & PROFIT	25.00%	\$	61,786
					CONTING	BONDING ENCY / WASTAGE	0.60% 5.00%		2,002 12,357
						ROJECT AMOUNT	3.00%	\$ \$	348,001
DATE		PROJECT	SCOPE OF WORK	K	LOCATION				
		EXCAVATION OF SITE		SITE					
LINE						LABOR & EQUIPMENT			TRADE
NO.	DWG REF.	ITEM DESCRIPTION	MEASURE	QUANTITY	UNIT PRICE	TOTAL COST	LINE TOTAL		TOTAL
		STRUCTURAL EXCAVATION						\$	247,142
		STRUCTURAL EXCAVATION						Ş	247,142
		BASEMENT EXCAVATION							
1	SH1/S2.0.1/S2.0 .2/S3.1	Excavation for Building Basement & Frontage Improvements	CY	9242	\$23.70	\$219,046.54	\$219,046.54		
		STRUCTURAL EXCAVATION FOR FOOTINGS							
		Item: Wall-1 Footing Length:194'-11" Width:6'-3" Depth:1'-4" Count:1							
2	\$2.0.1/\$2.0.2/\$3 .1		СҮ	65	\$23.70	\$1,536.02	\$1,536.02		
		Item: Wall-1 Footing Length:90'-2" Width:4'-3" Depth:1'-4" Count:2							
3	\$2.0.1/\$2.0.2/\$3 .1	Excavation	СҮ	42	\$23.70	\$1,000.05	\$1,000.05		
		Item: Wall-1 Footing Length:137'-5" (Excl Spread Footings) Width:2'-0" Depth:1'-4" Count:1							
4	\$2.0.1/\$2.0.2/\$3 .1		CY	14	\$23.70	\$320.86	\$320.86		

DWG REF.	PROJECT ITEM DESCRIPTION	SCOPE OF WORI EXCAVATION OF UNIT OF MEASURE			L MATERIAL COST DTAL LABOR COST SUBTOTAL SALES TAX LABOR BURDEN RHEAD & PROFIT BONDING ENCY / WASTAGE ROJECT AMOUNT	10.00% 25.00% 0.60% 5.00%	\$	247,142 247,142 - 24,714 61,786 2,002 12,357 348,001
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE	OVE CONTINGE PROPOSED PI	SUBTOTAL SALES TAX LABOR BURDEN RHEAD & PROFIT BONDING ENCY / WASTAGE ROJECT AMOUNT	25.00% 0.60%	\$ \$ \$ \$ \$ \$ \$	247,142 - 24,714 61,786 2,002 12,355
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE	CONTINGE PROPOSED PI	SALES TAX LABOR BURDEN RHEAD & PROFIT BONDING ENCY / WASTAGE ROJECT AMOUNT	25.00% 0.60%	\$ \$ \$ \$	- 24,714 61,780 2,002 12,35
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE	CONTINGE PROPOSED PI	LABOR BURDEN RHEAD & PROFIT BONDING ENCY / WASTAGE ROJECT AMOUNT	25.00% 0.60%	\$ \$ \$ \$	61,78 2,002 12,35
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE	CONTINGE PROPOSED PI	RHEAD & PROFIT BONDING ENCY / WASTAGE ROJECT AMOUNT	25.00% 0.60%	\$ \$ \$	61,786 2,002 12,353
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE	CONTINGE PROPOSED PI	BONDING ENCY / WASTAGE ROJECT AMOUNT	0.60%	\$ \$	2,002 12,35
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE	PROPOSED PI	ENCY / WASTAGE ROJECT AMOUNT		\$	12,35
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE	PROPOSED PI	ROJECT AMOUNT	5.00%		
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE					
DWG REF.	ITEM DESCRIPTION	EXCAVATION OF	SITE					
	Item: Wall-2 Footing	UNIT OF		LABOR & E				
	Item: Wall-2 Footing		QUANTITY	LABOR & E				
	Item: Wall-2 Footing		OUANTITY		LABOR & EQUIPMENT		-	
			Qontin	UNIT PRICE	TOTAL COST	LINE TOTAL		TRADE TOTAL
	Length:101'-6"							
	Width:2'-0"							
	Depth:1'-0"							
0.1/S2.0.2/S3 .1	Excavation	CY	11	\$23.70	\$253.03	\$253.03		
	Item: 8/8 Footing							
	Length:8'-0"							
	Width:8'-0"							
	Depth:1'-5"							
	Count:4							
).1/S2.0.2/S3 .1	Excavation	CY	21	\$23.70	\$491.54	\$491.54		
	Item: 8.5/8.5 Footing							
	Length:8'-6"							
	Width:8'-6"							
	Depth:1'-6"							
	Countral 2							
0.1/S2.0.2/S3 .1	Excavation	СҮ	19	\$23.70	\$456.30	\$456.30		
	Item: 9.5/9.5 Footing		1					
	Length:9'-6"							
	Width:9'-6"							
	Depth:1'-8"							
	Count 1							
		CY	8	\$23.70	\$201.29	\$201.29		
	L	Item: 9.5/9.5 Footing Length:9'-6" Width:9'-6" Depth:1'-8"	Item: 9.5/9.5 Footing Length:9'-6" Width:9'-6" Depth:1'-8" Count:1 2.0.2/S3 Excavation	Length:9'-6" Width:9'-6" Depth:1'-8" Count:1 2.0.2/S3 Excavation CY 8	Length:9'-6" Width:9'-6" Depth:1'-8" Count:1 2.0.2/S3 Excavation	Item: 9.5/9.5 Footing Item: 9.5/9.5 Footing Length:9'-6" Depth:1'-8" Count:1 Count:1	Item: 9.5/9.5 Footing Item: 9.5/9.5 Footing Length:9'-6" Depth:1'-8" Count:1 Cunt:1	Item: 9.5/9.5 Footing Item: 9.5/9.5 Footing Length:9'-6" Depth:1'-8" Count:1 CY

CONTRACTOR					ADDRESS			
					TOTA	L MATERIAL COST		\$ _
						OTAL LABOR COST		\$ 247,142
						SUBTOTAL		\$ 247,142
						SALES TAX		\$ -
						LABOR BURDEN	10.00%	24,714
					OVE	ERHEAD & PROFIT	25.00%	61,786
						BONDING	0.60%	2,002
						ENCY / WASTAGE	5.00%	12,357
					PROPOSED P	ROJECT AMOUNT		\$ 348,001
DATE		PROJECT	SCOPE OF WORI	(LOCATION			
			EXCAVATION OF	SITE				
LINE			UNIT OF		LABOR & EQUIPMENT		LINE	TRADE
NO.	DWG REF.	ITEM DESCRIPTION	MEASURE	QUANTITY	UNIT PRICE	TOTAL COST	TOTAL	TOTAL
		Item: 10/10 Footing						
		Length:10'-0"						
		Width:10'-0"						
		Depth:1'-9"						
		Count:1						
9	\$2.0.1/\$2.0.2/\$3 .1	Excavation	CY	10	\$23.70	\$230.48	\$230.48	
		Item: 10.5/10.5 Footing						
		Length:10'-6"						
		Width:10'-6"						
		Depth:1'-10"						
		Count:1						
	\$2.0.1/\$2.0.2/\$3					1		
10	.1	Excavation	CY	11	\$23.70	\$261.19	\$261.19	
		Item: 11/11 Footing						
		Length:11'-0"						
		Width:11'-0"						
		Depth:1'-11"						
		Count:1						
11	\$2.0.1/\$2.0.2/\$3 .1	Excavation	CY	12	\$23.70	\$294.51	\$294.51	
		Item: 11.5/11.5 Footing						
		Length:11'-6"						
		Width:11'-6"						
		Depth:2'-0"						
	S2 0 1/S2 0 2/S2	Count:3				╂────┤		
12	\$2.0.1/\$2.0.2/\$3	Excavation	CY	42	\$23.70	\$995.73	\$995.73	
	.1							

CONTRACTOR					ADDRESS			
					TOTA	L MATERIAL COST		\$ -
						DTAL LABOR COST		\$ 247,142
						SUBTOTAL		\$ 247,142
						SALES TAX		\$ -
						LABOR BURDEN	10.00%	24,714
					OVE	ERHEAD & PROFIT	25.00%	61,786
						BONDING	0.60%	2,002
						ENCY / WASTAGE	5.00%	12,357
					PROPOSED P	ROJECT AMOUNT		\$ 348,001
DATE		PROJECT	SCOPE OF WOR	κ	LOCATION			
			EXCAVATION OF	SITE				
LINE			UNIT OF		LABOR & EQUIPMENT		LINE	TRADE
NO.	DWG REF.	ITEM DESCRIPTION	MEASURE	QUANTITY	UNIT PRICE	TOTAL COST	TOTAL	TOTAL
		Item: 12/12 Footing						
		Length:12'-0"						
		Width:12'-0"						
		Depth:2'-1"						
		Count:6						
13	\$2.0.1/\$2.0.2/\$3 .1	Excavation	CY	94	\$23.70	\$2,225.17	\$2,225.17	
		Item: 13/13 Footing						
		Length:13'-0"						
		Width:13'-0"						
		Depth:2'-3"						
		County?						
	\$2.0.1/\$2.0.2/\$3				444.44		44.44	
14	.1	Excavation	CY	39	\$23.70	\$918.72	\$918.72	
		Item: 13.5/13.5 Footing						
		Length:13'-6"						
		Width:13'-6"						
		Depth:2'-4"						
		Count 1						
15	\$2.0.1/\$2.0.2/\$3 .1	Excavation	СҮ	19	\$23.70	\$439.93	\$439.93	
		Item: 13/64 Footing						
		Length:64'-0"						
		Width:13'-0"						
		Depth:2'-6"						
		Count:2						
16	\$2.0.1/\$2.0.2/\$3 .1	Excavation	CY	197	\$23.70	\$4,664.86	\$4,664.86	
	.1							

CONTRACTOR					ADDRESS				
					TOTA	L MATERIAL COST		\$ -	
						OTAL LABOR COST		\$ 247,14	
						SUBTOTAL		\$ 247,14	
						SALES TAX		\$ -	
						LABOR BURDEN	10.00%	\$ 24,71	
					OVE	ERHEAD & PROFIT	25.00%		
						BONDING	0.60%		
						ENCY / WASTAGE	5.00%	\$ 12,35	
					PROPOSED P	ROJECT AMOUNT		\$ 348,00	
DATE		PROJECT	SCOPE OF WOR	ĸ	LOCATION				
			EXCAVATION OF	SITE					
LINE			UNIT OF		LABOR & EQUIPMENT		LINE	TRADE	
NO.	DWG REF.	ITEM DESCRIPTION	MEASURE	QUANTITY	UNIT PRICE	TOTAL COST	TOTAL	TOTAL	
		Item: 40/40 Footing							
		Length:40'-0"							
		Width:40'-0"							
		Depth:2'-6"							
		Count:1							
17	\$2.0.1/\$2.0.2/\$3 1	Excavation	CY	316	\$23.70	\$7,495.77	\$7,495.77		
		UTILITIES EXCAVATION							
18	C-3.0	Excavation for Drywells	CY	33	\$168.03	\$5,549.69	\$5,549.69		
19	C-5.0	Excavation for Storm Line & Catch Basin	CY	48	\$6.88	\$333.20	\$333.20		
20	C-4.2	Excavation for Sanitary Sewer	CY	3	\$5.32	\$17.24	\$17.24		
21	C-4.2	Excavation for Water	CY	1	\$5.32	\$5.37	\$5.37		
	642	Excavation for Light Pole Footing	CY	0.3	\$5.32	\$1.39	\$1.39		
22 23	C-4.2		61	0.5	95.5E	<i>q</i>105	<i></i>		